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Q:-1. 18 men can complete a work in 9 days. In how many days will 27 men can
complete the same work?

ITT:- 18 ATEHT 9 AT W U HTH U Y TAhd 1 27 ATEGHT Ueh &1 hTH ohl foha a1 § 0w
Y Tehd 82

(A)6
(B)S
(C)12
(D)5
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Q:-2. 12 men can do a piece of work in 6 days if they work 4 hours per day. Find the
number of days in which 18 men can do 3 hour per day?

Aty 12 et wfafe 4 52 T ek O 1 6 foT § TwTH S wehd 71 A 18 SAraHt
T 3 € hTH hich IOT hTH i Thd- {347 T THTH /a7 2

(A) 5
(B)5
(C) 6
(D)7
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Q:-3. 48 men can do 50% of work in 24 days if they work 16 hours per day. Find the
number of days in which 72 men can do a work which is one and half of the given work.

If they work 12 hour per day ?
ITT:- 48 TEW 24 TET § 50% T T R ¢ ATS A T & 16 9 /1w o6 § | 37 femt hr

HEAT AT HITC FTEH 72 T6 IHY HTH T o Tehd & A QUM HMA A1 TR | TG o
gfrfm e FmHEE e ?

(A)64 days
(B)36 days
(C)54 days
(D)24 days
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Q:-4. 12 men can do a piece of work in 8 days they start the work but after 4 days 6
men leave the work. Find the number of days in which total work become complete?

ITT:- 12 STk fohelt Tl ot 8 AT W I ot B 98 T 916 ot § , U 4 ToHT a8 6
SAT*h 39 ST hl BIS 34 §1 AT 3T U 1A Teha o1 H THTH gRIT 2

(A)6

(B)24
(C)12
(D)18
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Q:-5. 90 men can complete a work in 32 days. 8 days after they started working, 72
more men joined them. How many days will they now take to complete the remaining

work?

3aT:- 90 ek forwlt swrd ant 32 Tt o ovT st 31 T 3% &t o 8 foat &g ofi 72 safe
30 hTE W IS AT Bl A7 3T U0 hrd Fehaet Tt o o g 2

(A)40/3
(B)40
(C)20/3
(D)20
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Q:-6. 8 men take 12 days to complete a job . They worked for 5 days after 2 men left
the job . In how many days 5 men will complete the remaining job ?

IqT:- Teh hTH oh! U A | 8 TEHI @l 6 T o171 § , 37814 5 Tat aeh shrw forar s@rer
TS 2 ST A 19 BIS 13T | A1 5 ATSHT =T T e fehe= ot 7 oy w2

(A)11 1/5
(B)9 4/5

(C)13 1/5
D)12 1/5
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Q:-7. 24 men can do a piece of work 1n 16 days . 50 men start the work after 3 days how
many men would be emited so that work will finish 1n time ?

I4T:- 24 SATEHT 16 T&T 7 T oW T Fehd © | 50 TFY ShH & L & IR 3 ToHT o o1e foha 7o
ehTeT STl & TR ST | OR o7 81 ST 2

(A)32
(B)16
(©) 24
(D)20
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Q:-8. 120 men in army camp has provisions for 150 days food. After 5 days 45 men
left the camp then the remaining food will last long for how many days ?

IST:- Teh BT hT TSN W 120 TR T 150 AT 6T @1 vate 21 5 131 & 918 390 9 45
I ZhET T BIS 7 &,a1 AT Tl FAT T ok AR &t ae e 2

(A)212
(B)224
(C) 160
(D)232
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Q:-10. 40 men can complete a work in 48 days. 64 men started for the same work for x
days . After x days , 32 men increased , So the remaining work is completed in 16(2/3)
days. Find x .

3T :- 40 STSHT 48 TT W Yok 17 I H Tkl 51 64 TEHT = X Tt 36 forg s foram X
T3t o aITg, 32 AT 9 Y, 3ATTT 99 T 16 (2/3) oAt § 0w germ Ay X 1 Wi [T it
?

(A)12
(B)5

(€)16
(D)10
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Q:-11:- If S men or 9 women can do a piece of work in 19 days . In how
many days 3 men and 6 women will do the same work ?

IaT:- AT 5 T5T AT 9 31 T 1 i 19 T F oo o Tk 21 A 3 76T 3R
6 ST 3 T 1 feher faaT o q Ry 2

(A)12
(B)15
(©)16
(D)10
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